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{a) Some Important Patiemns :

(ja,a%5da%2da$3d ... {Arithmefic Progression)
(il) &, ak, ak® ak®, ._._..............[Geometric Progression)
(iiiy A, E.% ,% e e e emnene G OMERTIC Progression)

{iv) Series of prime number - i.e. 2,3,5,7,11 ... i
(v) Saries of composite numbers - ie. 46891012 ...

Direction : {1 to &) Find the missing numbers :

Ex.1
Sol.

g
]

Ans.
Ex 3.

16,18, 22 25,7

Asperseriesa, a+d,a+2d, ...
a=16

d=3

a+dd=16+4 =3

28

4,8,16, 764

As per series a, ak, ak®, ak® ..
a=4

I=2

ak?=4 =29

32
240, 7,10, 40,10, 2

’ 1. 3.0 5
The pattermn is « 1, xixgxzxg
- missing term = 240 « 1 = 240
240
{b) Multiple Series :

A multiple series is a misdure of more than one seres :

1,1,4,8,9,7, 16,64

i1,4.9,16 pEret e aa. . ]
{i) 1,8, &4 mixed combination
27

9,166, 258, 7, 4912

Each number is in two parts. The first part is square of consecutive number 3.4, 5.__.

{3 (47 (5)° (€
) 4 1€ & 25 %

] 10

77
49

12

The Information Provided here is only for reference.

It May wvary the

Original



wwW.sarkariresults.io

4 B ] 10 12

The second part is the sequence of numbers with difference +2_ ke 4 .6, 8_..._.
Hence, the required number is 3610.

Ans. 3610
Ex6. 3.,6,24 30,63, 72 7,132
Sol. The difference between the terms is given below as :
:{ .I'\I 24 30 53?‘\5"132
VIV VNV
TR T 1 ;.':- 3 16

Therefore, alternate difference between the difference is 3 and 15 respactively.
Hence, the next term would be 72 + 48 = 120.

Ans. 120
Directions : (7 to 8) Find the wrong terms) -

Ex7. 1.3,8,19,42 BB 184

1 3 8 18 42 B3 184
Sol. | I I I e
2 5 11 23 aj 95
1 Il il Il | I |
a 5] i2 24 48

Hence, number B8 is wrong and should be replaced by BO.
ori=2+1,3xc2+2,8w2+3, 19 x2+4, 42 2+5 83 u+6

Ans, 28
Ex 8. 105, 85 60, 30,0, -45, -90
Sol. 105-20 =85
85-25 = B0
60 - 30 =30
30-35 =-5
-5-40 =-45
-45-45 =-80
Hence, number 0 is wrong and should be replaced by -5.

Ans. O

Direction : (9 to 10) In each of following questions, a number series is given. After the series, below it in the
next line, a number is given followed by (P}, (Q), (R) (5) and (T). You hawve to complele the series
siarting with the number given following the sequence of the given series. Then answer the
question given below if.

Ex8 12 28 64 140
a7 @ (R {8 (R)
Which number will come in place of (T) ?

1z ] & 140
L
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Similary (P} e ] (5] m
el 78 154 340 255 1412

| Il Il | 11 J
Maa X X2 X716 X

Therefore, the number 1412 will come in place of (E).

Ans. 1412

Ex10. 2 8 57 337
L2 I =) I L

Which number will come in place of (O} ?

3 [ )

. g 57 [T
Sol. | Il | | |
Xar X7E XE5
Simiarly,  (P) 1} (R) ()
E] 17 113 &7 1361
L I | | I 1 |
X7 X7E XE5 X5A

Therefore, the numbar 113 will come in place of (O).

Ans. 113

{a) Patiern of Alphabets Show Variation Based on :
{i} Position of the letiers
() Difierence between the alphabeis

(i) Position of alphabets:

Alphabets in order :

A°B CDEIF G H |[BENK L M NESFP O R 5 B0 ¥ W X BEl Z
1 2 3 4§86 7 B o D8 11 12 13 14 84 16 17 18 10 B@fA) 21 22 23 24 B850 26
Alphabets in reverse order ©

ZYy Xxwiiiu T s REIF O N MEEIK J I HESF E D G Bl A
1 2 3 4 @lle 7 8 oBEE11 12 12 4816 17 18 1080 21 22 22 24 B 26

Direction : {11 to 18) Find the missing term(s) :

Ex11. B,E,H, ?

bbte: The Information Provided here is only for reference.
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Sol. In the given series, every letter 5 moved three steps forward to obtain the coresponding letters of the next
term. So, the missing ferm is K.

Ex.12 Q. M.K 7.E

Soll  In the given seres, every letter is moved three sleps backward to obtain the comesponding letters of the
next ierm. 5o, the missing term is H.

Ex. 13 CG, DI, 2, IP, MU

Sol. The first letier of the first, second, their....._lerms are moved one, two three, four, five,.._.. steps forward
respectively and the second letiers are moved two, three four, five, ......steps forward respectively. So the
missing term would be FL

Ex.14. AB, BA, ABD, DBA, PORS, 7

Sol. The first term is reversed to get second term. The third term is reversed to get the fourth term. Smilarly , to
get the gixth tem, we reverse the fifth term. So. the missing term would be SROP.

Ex.16. 1725, 15X4. 13%3, 7, 9R1

Sol. The first number & second letier of every term is moves steps backward & the third number of every term &
moved one step backward. So, the missing term would be 11T2.

Ex.16. FLP, NS, LPV,?

Sol. First and third letters are mowed three steps forward in each term & second letier i moved two steps
forward in each term. So, the missing term would be ORY.

Ex. 17. D-4, F-6, H-8, J-10, 7

Sol. First letter and second number is moved two placed in each term. So, the missing term would be L - 12,
Ex 18. [ABC)- &, (DEF) - 15, (GHI}-24 7

Sol. Ingiven series

LetA=1,B=2,C=3, D=4 E=35,F=6andsoon

[4+8+€ =6 [D+E<F|=15 [Gebi1}=24

Sa, the missing term woulkd be {1¢+ﬁ+l_]= 33
1} Ry,
Ans. (JKL)-33
Directions : (19 to 22) Find the wrong term |s):
Ex 19. GAT, HOR, M20OP, P43N. S00L

Sol. First letter of every term is mowed three steps forward in each nex term. Second number of every term of
thepatterm = w2+ 1, «2+2 «2+3, ...c.ce and third letier of every tem is moved two steps backward.

Hence, J10R is the wrong term and should be replaced by JOR.
Ex. 20 ABD, DGK, HMS, NTB, SBL, ZKW

Sol. First lefter of first, second, third ... terms & moved three, four, five.. .... steps forward respectively.
Similarly, second leiter & mowved fir, six, seven, ... steps forward respectively and third letter is mowed

bte: The Information Provided here i=s only for reference. It May wvary the Original
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seven, aight, nine,_._ sleps forward respecfively. Hence, NTB is the wrong term and should be replaced by
MTE.

Ex 2. EPV, FOW, GRX, HTY, TZ

Sol. Inevery lerm, first second and third letier i in alphabetical order o its next term respectvely. Fourth fem =
not following the same rule. Hence, HTY is the wrong term and should be replaced by HSY.

Ex22. PON, ROP, TSR, VVT, XWV, Z¥X

Sol. In every term, first second and third letier is moved two steps forward fo its next term respectively. Fourth
term is nof following the same rule. Hence, VWT is the wrong term and should be replaced by VUT.

Pattern of such questions is that some letters in sequence are missing.
{i} The letter may be in cyclic order (clockwise or anti-clockwise).

{#) To solve a problem, we have to select one of the altermalives from the given alternatives. The allemative
which gives a sequence form of letiers is the choice.

Direction : (23 to 28) Find the mizsing termy(s) :

Ex23 as baaBbb a

{A) baa {B) abb (C) bab (D) aab
Sol. we procesd step by step to solve the above series :
Steps :
j The first blank space should be filled in by *b’ so that we have to a's followed by two b's
2. Second blank space should be filled in by ‘8" 50 thal we have three 8’s followed by three b's
3. The last blank space must be filed in by ‘a’ to keep the series in sequence
Ans. (A)baa

Ex.24 bcaeachb_
{A) aabbe {B) abbbe (G} aabee (D) abbac

sal. ()
i pet
Series i abo/abe/abe/abo. So, pattern abs is repeated.
Ans. (D) abbac
Ex.25 a abb ma ba a b
{#) ababa {B) aabba (C) aabab (D) aaabb
So0l. Series & asabb'aasabb/aaabb. So, pattemn asabb is repeated.
Ans. (C}aabab

Ex.26 a c abb ca a
{A) baca {B) bbca (C) bace D) back

The Information Provided here is only for reference. It May wvary the Original
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Ans.
Ex.27

Ans.

Series s abc/aabboc/ana
{A) baba

a_bc a_beda cod_bed
{A) abdbdbd {B) achdbb (C) adbbad (D} bbbbbh

Series is aabcd/abbed/abeediabedd
{C} adbbad

cc ccdd d cc ccdd_dd
{A) dedee {B) decdde (C) decdd (D) Mone of these

Series s codoc/ddodd/codeciddedd

{B) deddb

Direction : {29) The question given below is based on the letier series, In series, some letfer are missing.

Ex.29

Sol.
Ans.

Select the correct alternative. If more that five lefer are missing, select the last five letters of the
series.

EYZU WZ W uv
(A) uvayz {B) vuzyx [C) uvzyx D) wuxyz
Theseresis xyzuy /yZuvy Zuviyuysyz

Thus the letters are written in a cyclic order.
[A) uveyz

Direction : {30) There is a letter series in the first row and a number series in the second row. Each number

Sol.

Ans.

in the number series stands for a letter in the letter series. Since in each of that series some ferm
are missing you have to find outf as fo what those terms are, and answer the questions based on
these as given below in the series.

ah _c_ ne_h_eac

21435 254

The last five terms in the series are
{A) 32524 (B) 43215 (C) 25314 (DO 32541

Bytakinga=2,c=1,n=4, h=5and e =3, the numbers series runs as 21543 15432 54321 43215. K first
digit of a group of five digits is placed as the last digit, we obtain the second group of five digits and so on.

{B) 43215

Direction : (31) In the following question, three sequences of letfernumber are given which correspond to

Ex.31

each other iz some way. In the given question, you have to find out the letternumerals that come in
the vacant places marked by (7). These are given as one of the four alternatives under the quesiion.
Mark your answer as ins

CB__D _BABCCE

__23a54__ 7777

P_P9_r_q____

MAG5A (B)4334 [C)a224 D)2552

ar The Information Prowvided here is only for reference. It May wvary the Original
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Sol. Comparing the positions of the capital letiers, numbers and small letters, we find p comesponds to C and 2
corresponds o p. So, p and 2 cormespond fo C. g comesponds o A and 3 cormesponds o q. So, gand 3
corresponds o A. Also, 5 coresponds to D. So, the remaining number iLe., 4 corresponds to B. So, BCCB
corresponds io 4, 2, 2. 4.

Ans. (C) 4224

MISSING TERMS IN FIGURES :

Directions : {32 to 40) Find the mizsing number{s) :

i M
SPEVAVIRVACIIVAT
Fifioh N " th
3] 4 5
{A) 32 {B) 22 {C)18 (D) 27
Sol. Infirst figure 5« 4 + 6=26
In second figure, B x 3+ 5=20

.. missing number n third figure, 6~ 3 + 4 = 22

(A 140 {B) 150 [C) 200 (D) 180
Sol. Infirst figure, Bubu3+3x2=09=120+54 =170
In second figure, BuTu5+2xTe8=210+126 =336

- missing numbser in third figure, 3« 2« 5+6 =4« 5=30+120= 150

Ans. (B)150
P 5 | -
Ex. 34 [ & [30] 5 15
5 l6]?]s]
2
(A1 15 (B) 20 [c)125 (D) 40
Sol. Cleary

In first figure, 6 « 3-4 =2 =18-8=10

In second figura, 8 x 5-5 x 3=45- 15=30

= I third figure, 6 « 5-2 « 5= 30 -10 = 20
Ans. (B)20

i =
25 21

A2 Ry :
Ex 35. ( \[ N

bte: The Information Provided here i=s only for reference. It May wvary the Original
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{A) 184 {B) 210

G241 (D) 425

Sol.  The number at the bottom is the difference of squares of two numbers given at iop

Infirst, 113 =8° =121 - 81 = 40

In sacond figure, 15%- 72 = 225- 40 = 178
.- In third figure, 25%-21% = 625 - 441 =184

Ans. (A) 184
Ex. 36 & [18[15
[z 5
N ENE
8 (270
(A1 {B) & ici2 (D2
Sol. Ebamty.hmamuumn,f‘l;i:n
in the I column, '3:3 =37
We take x in place of ?
Smiarty | e 1 ool g
%5,
15
Ans. (C)3
14 4 20
Ex.37 |7 B 7
5 3 2 3 1 3
(A0 B2 sy 3 (o
Sol. (4x3)-(5x1)=7,(dx3-(2x3)=6
Similarly, {2 = 1) - (3 » 0) =2
Ans. (B)2
g 5 o
A L 5
Ex.38 583 470 7{-k5
7 \z {%
7 B 3
(A 12 B9 (C) 14 (D) 10

Sol. I the Disgram, [9- 3) + {7 -5) =8
In the Il Diagram, (6 - 4) + {5 -0 =7

The Information Provided here

is only for reference.

It May wvary the Original
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~In the Il Diagram, (10 -5} + (7 -3} =9

Ans. (B19
Ex. 38 Find the missing letters from left to rght.
Z|- |¥v|
RIK|-
T [GF|
|
{A) JSN {B) JNS (C) JRS (D) KRS

Sol. Infirst column, Z =26 A =18
In second column, K=11,5=13
We find the gap of 8 is there both columna.
adopfing the same nule, we find that

e |3 [8F W (B [% [ E fé;l" Tk
Ex 40. |6 56 |80 |2 |20 |0
(A) O (B)3 {C)5 o7

Sol. Suppose X denotes the numbers in the first row and ¥ denotes the numbers in the second row.
Then, the pattern is X2 - X =Y.
Clearly,3°-3=0-3:8°-8=64-8=56;10°-10=100-10=90;2%-2=4-2=2;1?-1=1-1=0.
Similarly, 5% - 5 = 20. So, the missing number is 5.

Ans. (C}5

Ex. 41 Find the value of X in the following figure :

[i] ]

33 2
27 7
35 B
32| X
18| 9
221 M
12| 3
A3 (B) 4 G)8 12

Sol. The top left number is obiained by adding the botiom two numbers. The top right hand number is the result
of dividing the botom two numbers. Thus,
12+3=1512+3=4;
2+11=0322-11=2;

18+9=27,18+0=2.
50,32+ X=36and32+X=8BorX=4.

Ans. (Bj4

bte: The Information Provided here i=s only for reference. It May wvary the Original
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PRACTIVE EXERCISE

Directions : (1 to &) Find the missing numbers :

1.

10.

2.8.18.32,7
() B2 {B) 60 (G} 50 (D) 46
16, 54, 185, 7

{A) 780 {B) B02 (C) B16 (D) B2d
14,316, 536, 764, 7

{A) D81 {B) 1048 (C) 8110 {0} 8100
8.11, 15,22, 33, 51,7, 127, 203

{A) 80 {B) 53 [C) 58 (D) 62

2,3,6,18, 7, 1044

{A) 154 {B) 180 [C) 108 (D) 452
7,19,55,163, 7
{A) 387 {B) 320 (C) 527 (D) 487

1,2,9,4,95 6,7
{A) 51 () 49 (C) 50 (D) 47

16,33, 67, 135, 7
{A) 371 {B) 175 [C) 271 (D) 287

8,24,16,7,7,14,6,18,12,5,5, 10
(A) 14 {B) 10 <7 (D) 5

212,36, 80, 150, 7
{A) 194 {B) 210 (C) 252 [D) 258

Directions : (11 to 13) In each of the following questions, a number series is given. After series, below it in

1.

1

13

the next line, & number is given followed by (P), (Q), (R), (3) and (T). You have fo complete the series
starting with the number given following the segquence of the given series. Then answer the
question given below it.

2 3 2] 27
5 P Q) (R} 15) T}
Which of the following numbers will come in place of (T) ?
(A) 184 (Bl B (C) 825 (D) 45
5 18 4B 112
7 " @ ®| s (T
Which number will come in place of (5] 7
Ay 172 {B) 278 (C) 270 (D 378
15 159 259 323
T L] Q) (R} {5) (T)
Information Prowided here is anl for reference. It Ma 3T
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Which of the following numbers will come in place of (R) ?

(&) 251 {B) 315

(C) 176

Direction : (14 to 15) Find the wrong termy(s) -

14.

15.

9,11, 15,23, 39, 70, 135
(&) 23 (B} 39

3,0, 36, 72, 216, BG4, 1728, 3468
{A) 3468 {B) 1728

(G170

(C) 884

Directions : {16 to 25) Find the mizsing termys) :

16.

17

18.

14.

DFK, FEL, HDM, JCHM. ?

{A) KBN {B) KBO
JXG, HTJ, FPN, 7, BHY

{A) EKS {B) ELS

B2E. D5H, F12K, H27M, 7

(A} J580 {B) J560
CYD, FTH, IOL, LJF, 7

{&) PET {B) OET

ZGEL, ¥HMN, VIO, TJU, ?

{A) REX {B) RKY
2B, 4C, BE, 14H, 7
{A) 221 {B) 24L

MTH, ORK, UPN, YNQ, 7
{#) KT {B) CLT

B3M, ETJ, H15G, K310, 7
{A) NBSA {B) O83A

5X0,X8U12, 11A15, 14018, 7
(A 17L (B} 1721

BC7.8F10, 11J14, 15010, 7
{A) 18U24 (B} 20U25

(C)LBO

(C) DAL

(C) J570

(C) OEY

[C)RLZ

G 22K

(C) ELT

() NE3A

(C) 17M21

iC) 19U25

Direction : (26 to 19) Find the wrong termy(s) :

2 B N R

bterx

EGA, JHF, ONMIK, TOF, YWU

{A) ECA {B) JHF
DKY, FJW, HIT, JHS, LGO

(&) FIW {8 LGO
DVG, FS1, HPK, JNM, LJO

(&) DViG {B) JNM
COF, DEG, EFH, FHI

{#4) COF {B) DEG

The Information Provided here is

(C) TQP
10 JH
(C) HPK

(G} FHI

aonly

for reference.

i) 151

{D) 135

(D) 218

(D) LEN

(D) DLS

(D) J56P

(D) PEV

{0} RKZ

o2mM

(D) EKT

[D) NB3Z

(D) 17123

{D) 20L24

(D) YWU

(D) HIT

(D) Lo

{0} EFH

It May wvary the Original
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30.  ZLA. BMY. CNW, FOU, HPS
(A1 ZLA (B} BAY (C) FoU (D) CNW

Directions : (31 to 38) Which sequence of letter when placed at the blanks one after the other will
complete the given letter series ?

. a baa_aa _ab

(Ajaaaa {(Bibaaa [Cibbaa [Djabba
32 _aabb s ab b

{Mibbaa {Blbaba [Cibaab [Diabab
33. aab_aaabba_

{Aibaa {Blabb [Cibab [Djaab
M. a _baab _aa

(Ajabaab (Bibbaba [Cibbabb [Dibkaaba
35. abc d be d db cda

{A) bacdc {B) cdabe (C) dacab (D) dechd
36. a_bbc asb cca bbeo

{A) bach {B) acha (C) abba (D) caba
7. be _bb_aabc

[A) acac {B) babe [C) abab (D) aacc
38. _bec ac aabb abcc

[A) aabca {B) abaca (G bacab {D) beaca

Directions: (39 fo 40) The questions given below are based on the letter, series, In each of these series,
some letiers are missing. Select the correct alternative. If some than five letters are missing, select

the last five kefters of the series.
34, rtp Btp 8
(A) rstgqp (B) tsrgp (C) retpg (D) None
_ % rhemzywebyz
1.P.:| abxzy (B} abzxy (C) abxyz [D) bxayz

Directions : Him-ﬂj Ti‘:emb.lelhrurhﬂn"xﬁrﬂmwlnd'mdlnmbtrlemmmcmnmdmw
Each number in the number series stands for a lefter in the letter. Since in each of that series some
term are missing you have fo find out as fo what those terms are, and answer the questions based
on these as given below in the series.

. ab cd aabd dba_

18 32_1___4____
The last four erms in the series are
{A) 1234 (B 3112 [C) 3211 (D) 4312

42, bnt__nam_nab__a8a____
i3 253 524 9gh
The last five terms in the senes are
{A) 13425 {B) 41325 (C) 34125 (D) 13452

Directions : (43 to 45) In each of the following guestions, there sequences of lefter. numbers are given
which correspond to each other in some way. In each guesition, you have io find out the
letter’numerals that come in the vacant places marked by (7). These are given as one of the four
alternatives under the guestion. Mark your answer as instructed.

43. _AC_BD_cCDCD

2_41_14__

re_qr_p??7??

(Alpgpq (Biprpr [Cirgqrg [B)rsrs
4. A _BAC_D_BCDC

_4_ 3 2 579797
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dC__bacbhb___ _
(2454 (B)2545 [C13454
_ADACB__BDCC
24 2358
p__q__re???7
{Ajpres {Bipsrr Cirpss
Directions : (46 to 50) Find the mizsing term in the given figures
17 1 19
12 13 16
25 |4 7
(&) 36 =11
| . 2
.3 i '\]
(A 14 (B) 18 {cy11
a 3 5
(A2 (B) 82 (C) 82

8.

(& : ¢
© 9 | ®
-'-'-'_ '/#.-:-\l'_r_.\l P FH"\H;-\, .'r
EHe)-® OH{«)@ @7}
= g
{B) 141 (C) 144
16 ﬁ? 40

V%
|

-] -] 7

A4

{A) 18 (B)12 cia

7T !
ENIPAGVA
4 5 10

(A} 14 By 22 [G)az

5 8 |8

5 |15 |7
5 |5 |86

Ay 12 e (C) 16

g b B
@ Q) (e
3 4 18

4525

Disrpp

C) 25 (D) 64

I RE]

(D) 102

(O} 188

D)6

(D) 320

(D 28

bte: The Information Provided here i=s only for reference. It May wvary the Original
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53,
®) 72 (B) 18 ca (D) 18
6 18 15
54, 2 @ 15 8 @14 15@ 3
5 2 a
A1 {B) 18 {Cyo0 {D) 225
R OO
4 5 ]
(A) 20 (B) 22 (Ci2a o1z
s 7 11 40
12 8 54
15 4 7
() 38 |7 iC) 25 oo
57.
T 1 a8
iz |8 54
15 |4 7
(Ay2 {B) 3 iCi4 5
] A
58,
4 3 10 ] 7
5 4
(A) 1 ()3 (cfa o5
29 27 29 30 59 40
54, 45 43 43 44 W 20
{A) B2 {B) 42 {C) 50 o
&0, E ¢
56 182
Ay 127 {B) 142 () 158 (D) 198

bte: The Information Provided here i=s only for reference. It May wvary the Original
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Coding & a method of sending a message to the receiver, such that the third person doesn't know about it.
Code language is formed by cerain rules & patterns. To know this language following cerain rules is called
‘DecodingV

TYPES OF CODING - DECODING :
(i} Letter - letter coding {ii) Letter - number coding
{iiiiy To code letier'words in puzzie form  {iv) To code some objects in puzzie form
{w) To code as per table form/eolumn form

Ex 1. i in any code language, KUMAR = coded as LYNBS, How = EMOTIONAL coded in that language.

(A} ENQLJQEM {B) FNPUJPOBEM {C) GNPUNFOBM (D) GNQUJCOBM
KUMAR L L N B 8
1L L " I
Sol. L h 14
_|- i‘l’ r LI 1
s
L 1L + N |
L i
+1
Similarty
EMDTlGN.ﬂ;LTﬁ HNPUJPOBM
- ] |
1 ﬂ ﬂ
41
+1
i +]
+]
N +1
+1
+7
Ans. (B}

Ex 2. Win any code langeage CLERK is coded as AHYJA how is JOB coded in that language.

{A) HEW {B) HKV {C) HKL (D) None

bte: The Information Provided here i=s only for reference. It May wvary the Original
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L -

O

Lol
L
=

-

Ans. (B)
Note : The sum of a alphabetin order & in reverse order is 2T as explained below -
Ex.3. W in any code language NATIOMAL &= written as MZGRLMZO than how iz JAIPUR written in that language.

{#) QZRKFI {B) PZRKFI {C) QZRIFK (D) QARKFI

Similarly,

J A | P UR — QZ R K F |
LI sourew f [ [ !

L 14265 = 2T

g+18 = 2T

| 18 +11 = 37

21s0=77

18 +0 = 27

Ans. (A

Ex4. I the code for ALLOWAMNCE i= ZNKPVEMDD, the word DEARNESS would be coded as -

{#) CFBACDTR {B) EDZOMFRT {C) CDEZTMFTER (D) CFZSMFRT

=1

ALHDM\'F«NGE—*?MKPVBHDD
1
| I

Sol. =)

bte: The Information Provided here i=s only for reference. It May wvary the Original
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Similarly,
DE ARNESS —_— G FZSMFRT
| | | =] | |
H | | |
H— 3 |
| 1
— ! -
#1
Ans. (D}

Ex5. WRAT =42 and CAT =57, then LATE=7
{A) 8O {B) 70 (C) 64 (o) 74

Sol. InthegwencodeZ=1¥=2X=3, ..., C=24 B=25 A=26
S0, RAT=0+26+7=42and CAT =24 + 26 + 7 =57
Similarly, LATE=15+26+7 +22=T70

Ans. (B)

Ex 6. i AJAY is written as 1117, then is same code MAMA would be written as

(A3 5114 {B) 5411 (Cha141 (D) 4511
A JAY- -1 117 N AMA—es5 141
Sol. 1101 25 ]* 14 1131
|_|:;,: - | Hence [
Sof .

Ans. (C)

Ex 7. Incerain language, § 1 is coded as A, 2 a= B, 3 as €, and so on, ow is FLOWER coded in that code ?
() 6121523518 {B) 6121823515 {C) 6211523518 (D) 6218123515

Sol. Inthegwvencode 1=A.2=B.3=0C,..... . 24=X 25=Y,26=X
So0,im FLOWER, F s codedas 6, Las 12, 0as 15, Was 23, Eas 5 and R as 18.

Ans. (A

Ex B. ¥ the animals which can walk are called swimmers, animals which can crawl are called flying, those which
five in water are called snakes, and those which fly in the sky are called hunters, then what wil a lizard be
called 7
{A) Swimmer {B) Snake (C) Hunter {D) Flying

Sol. Alizard is an animal which crawls and hence is called ‘flying’/

bte: The Information Provided here i=s only for reference. It May wvary the Original
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Ans. (O}

Ex 9. i knr lin hen stands for everything is fine ; nso one lin stands for there is something and ksa nso wno
stands for ask something now ; What would there stand for 7
(&) lin {B) nso [C) ons (D) ksa

Sol. [lin i8 common in first two sentences, it stands for I8 NS0 is common in last two sentences, it stands for
something. Clearly, in second statement there stands for ons.

Ans. (C)
Ex 10. In a code language 157 means mother always lovable, 619 means always happy future and 952 means
mother very happy then what does the word fulure stand for in the same language 7
A0 816 ic)1 (D) Can not be determined
Sol. 157 means mother always kovable .......{i}
619 means always happy future _.._..{ii)
952 means mother very happy ... Jiii)
from (i) & (i) always means 1
from (i) & (i) happy means 9
So, fulure means 6
Ans. (B}

Directions : (11 to 14) Column | contains five capital letters while column Il contains five digits.
Each letter corresponds to a single digit but not necessarily in that order.

Column-| Column-l
BEIKL 61520
PNETE 34568
XLPBE 7401
KMNIXV 27306
XBMNPE 45713
Ex 11. What is the value of BIKE 7
{A) 5261 (B} 6125 (C) 2560 (D) None of these
Ex 12. What iz the value PIN + NIP 7
(A) 423 (B) 744 (C) 777 (D) 747
Ex 13. Whatis the value of BITE - KITE 7
{A) 386 {B) 1000 (C) -1000 (D) None of these
Ex 14. What iz value of NIL + NINE -TEN ?
{A) 4364 {B) 2738 (C) 2007 (D) Mone of these
Sol. (11toi4):

A digit will be the code of letter if both are present in the same rows and also absent in the same rows.

The Information Provided here is only for reference. It May wvary the Original
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1.
12
13
14.

S0, Code of B 8 5 as both are presant in row no. (i}, {iil, (i), (v} & absent in row no_ (iv).
Code of E is 1 as both are present in row no. (i) {iii], (v} & absant in row no. (i, ()
Code of | B 2 as both are present in row no. (i) (iv) & absent in row no. (i), (@), (v).
Code of L is 0 as both are present im row no. (i) {ii), (iv) & absentin row no. {(m), {v).
Code of K is & as both are present in row no. (i), (i}, (iv), & absent in row no. i), {v).
Code of N is 3 as both are present in row no. (i}, {iv), (v) & absent in row no. i), (i),
Code of P is 4 as both are present in row no. (i} (i), (v] & absent in row no_ (i) {iv).
Code of T is 8 as both are present in row no. (i} & absent in row no. (i), (i), (iv), (v).
Code of V is O as both are present in row no. (iv) & absent in row no. (i), (ii), {ii), (v].
Code of X is T as both are present in row no. (i), (iv), [v) & absent in row no. (i), (i].
S0, we can summarnes the result in the following tabile -

Letters | B

Ei}
Digts | 5

KL
1|2 |6 |0

5261

423 + 324 = 747

5281 - 6281 =-1000

320 + 3231 -B13 = 2738

Directions : (15 to 16) In each questions there is a word written in capital lefters with one letter

Ex 15.

Sol.

Ex 16.

Sol.

Ans.

underlined. For each letter in that word there is a code written in smail letters. That code is
denoted by either (A), (B), (C). (D) or (E) not in the same order. You have io find out the
exact code for the underlined letter in the word. The number of that code is the answer.
Please note that the same letter appearing in other word({s) may be coded differently.

MAGIC
{A) km (B) =g [C)ik (D) ca (E) og
M[+2) 0 (+B)g —— 0, Aj+2) (+2) 8 —— v’ G(+2)i[+2) k — B, [[2+)k[+2)m —— *m’ and

Ci+2)e{+2)g &=—= og’

()

QUITE

{A) hj {B) su (C) e (D) pr (E} df

Qi-1Ip+2)r s Pr, U2y s W, I-1}h{+2) j — s hj, T{-1)s (+2u — . 's7 and E(-
1)+ 2)f s ‘df

(o)

PRACTIVE EXERCISE

=t The Information Provided here is only for reference. It May wvary the Original
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10.

1.

12

13

14.

It in any code language TARGET iz coded as UYUCMY then which word is coded as VICTORY in that
language ?
(&) UKZXJXA {B) UKYXJOR {C) UKYXIWD (D) None

If in a certan code MANISH & writen as NZMRHS, then how will RANJIT A be written int eh same code 7
(A) ZMORGZ {B) EMPRGZ (C) EMORHZ (D) EMORIE

i MENTAL iz written LNDFMOSUZBEM, then how would TEST be written in that code 7
{A) UVFGTIV {B) RSCDQARS {C) SUDFROASM (D) SUDFRTSU

if HERCULES i= coded s JCTAWJGQ, then what = the code for APHORDITE ?
{A) CNMUTBKRG {B) CMIMTBKSG {C) CNIMTBKRG (D) CNIMTCKRG

it BOX is coded as CDOPQYZ what will be the last two letiers of word in the same code for HERO 7
[A) N, M [B)M, N {CIP,Q D) Q,P

if IMPORT is writtien USPQN., than how will CAPIT AL be written in this coda 7
{A) MELLIGBD {B) KZSHOZE {C) MUBJBDG (D} MBOUUBD

i XY = 600, ABC = & than, GO + DO will be equal to :
{A) 150 {B) 180 {C) 165 (D) 155

it ANCE is coded as 3, 7, 29, 11 then BIOL will be coded as :
{A) 5,31, 21, 25 {B) 5,31,10, 25 (C) 5,28, 19,35 (D) 5, 20, 19, 17

it ADARSHI is codded as 53, SCHOOL is codded as 66 then the word STUDENT will be codded as -
{A) 80 {B) 07 {C) 80 (D) 96

In a cerfain code KAMAL & written as 29894, VWAY iz written as 35196, then the word VIMAL will be
coded as
() 29196 {B) 35804 (C) 35104 (D) 35106

if DEAR is coded as 7 and BEARS as 9, what should be the code for WAX 7
{A110 |y 12 (C) 16 (D) 10
If air i= called water, water is called green, green is called dust, dust is called yellow and yellow is called

cloud, which of the following does fish live in ?
(A} Air {B) Water {C) Green (D) Dust

If rains is called pink, pink in called cloud, cloud is called water, water is called breeze, and breeze =
called moon, what do you wash your hands with ?
{A) Water (B} Rain {C) Breaze (D) Moon

In & certain code XZM means he i bright, TCZ0 means every lawn in green, and OQCN every wall was
green. Which of the following does mean every lawn is bright in that code 7
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{MIZTOM {B)CXZT {CIXOTZ [DjCannot be determened

15. In a certain code language, Pat Zoo 5im means Eat Good Mangoes. Pus Sim Tim means Mangoes And
Sweets and Tim Zoo Kit means Purchase Good Sweets. Which word in the language means Good 7
(A} Zoo {B) Pus {C) Sim (D) Tim

16. In a certain code TB6 means study very hard, 958 means hard work pays and 645 means study and
work. Which of the following is the code for very 7
{A) 8 {B) B o7 [D) Cannot be determined

17 if men are very busy means 1234, busy persons need encouragement means 4567, encouragement is
very important means 3589 and important persons are rare means 2680 what is the code for
encouragemeant
M5 (B & ca oma

Directions : (18 to 22) According to a code language, words in column | are written in capital
letters. And in column Il their codes are given. The codes in column I are jumbeld up.
Decode the language and choose the correct code for word given in each question.

Column | Column Il
DELIBERATION semngs
COMNSIDERATE ceehimo
GHOSTLIKE cihmoggre
WORLDLY cdgmgrssz
KNOWLEDGE adefmopggsz
ROCKET cefmopgqazz

18. KNIGHT

(A) ghrgyz {B) fhmpgr {C) gpraxz (D) fgrsxz
19.  BLOAT

{A) ckmps (B} cmpgs (G} kpaz (D} hmpgz
20. NOTICE

{A) efhpgs {Ej) fghpgr (G) afmgsz (D) acdeqs

21. SOLACE

{A) acdmpqg {B) demopqg {C) acemoq (D) acedpagr
2. WORDY
(A} adeop (B} ethim {C) shimo (D) fhimg

Direction : (23 to 25) In each question there is a word written in capital letters with one letier

bte: The Information Provided here i=s only for reference. It May wvary the Original



underiined. For each letter in that word there is a code writfen in small letter. That code is
denoted by either (A), (B), (C), (D) or (E) not in the same order. You have to find out the
exact code for the underlined letter in the word. The number of that code is the answer.
Please not that the same letter appearing in other word(s} may be coded differently.

23.  PAGES
{A) b {B) u {Cir (D) x

24. BREAK
Az {Blg {Cip D)

25, APHIL
(AR By f Clu (D) x
{E)o

ANSWERS

Qu. (1 2 3 4 - & T 8 9 10 11 i2 13
Ans. | A A i} c [= A | C B D B [+ c [=
{Qus. |14 |15 |16 [17 (18 |19 |20 |21 22 |23 'M |25 .
Ans. | D A G A D A C A c A A C |
The Information Provided here i anly for It M rv the C
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You hawve to arrange these wonds in order in which they are arranged in a diciionary. In a dictonary the
words are placed in alphabetical order wor.t the second alphabet of the words and so on (that is, third
alphabet, fourth alphabet.....)

Direction : (1 to 2) Arrange in the correct alphabetical order.

Ex 1. Arrange in alphabetical order and find which word comes in the middle 7
Salect Saldom, Selfish, Saller, Send, Second, Section

Sol. The given words can be aranged in the alphabefical order as :
Second, Section, Seldom, Seleet, Salfizh, Seller, Send
Clearly, select comes middie.

Ex2. Asrange the given words in the sequence in which they occur in the dictionary and choose the comect
SequUence.
1. Precede 2.Precision 3. Precise 4. Precept 5. Preach 6. Prelude
{A15,3,1,4 2,6 (B)5,1,4,3, 2,6 G)5,1,3,4,2,6 (D)5, 1.4,2 3.6

Sol. (B) The correct alphabetical order of the given words is -
Preach, Precede, Precepl, Precise, Precision, Prelude. Thus, the cormect sequence is 5,1, 4, 3, 2, 6.

Direction : (3) In the following question, a group of letters is given which are numbered 1,2,.3.4.5
and 6. Below are given four alternatives containing combinations of these numbers. Select

that combination of numbers so that letters arranged accordingly, form meaningful word.
Ex3 A c P E T s

1 2 3 4 5 &
{A)1,6,3.4,2,5 (H)2,3.4,1,56 (C)5,6.3,4,1,2 (D) 6,5,3,4, 2,1
Sol.  {A) The given letter, when aranged in the order 1, 6, 3, 4, 2, 5. Form the word ASPECT.
Ex4. W any two istters in the word PRISON have as many letters between them in the word as there are in the

English alphabet, they form an alpha-pair. How many such alpha-pairs are there i the word PRESON 7
(A4 (B)1 G2 D)3
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Sol. (A Letter im the given word Letter in the alphabet series
MoON NO
MPRIS FPORS
@ RISON ROFPOMN

Ex 5. Mumber of letiers skipped in between adjacent letiers in the series is odd. Which of the following series
chserves this rule 7
(&) BOHLR {B) FIMRX. [C) EISOV (D) MPRUX
Sol. (MBCDEFGHIJKLMNOPOQR
1 3 3 5
Clearly, in letier series BOHLR, the number of letier skipped in between adjacent letiers in the series is odd.
Ex 6. i you count 21 letter in the English alphabet form the end and 20 |etiers form the beginning which letter will
appear exactly in the middle of the sequence thus formed 7
Ay M (B} N i oo
Sol. (A) Consider the English alphabet :
20 Letters from beginning
ABCDEFGHIJKLMNOPORSTUYWXYZ
21 Letters form the end

By counting 21 letter from the end and 20 letiers from the begnning, we get the following sequence in
which M com xacty middle.
EGHIJKLIMNOPQRST

Ex7. Kitizpossible to make a meaningful word with the first, the fourth, the seventh and the eleventh lattars and
the word INTERPRETATIOMN, which of the following will be the third letter of that word ? i more than one

such word can be made, give M as the answer and # no such word can be formed, give X as the answer.
AT {BJE G X (o) M

Sol. (D) The first, the fourth, the sewenth and the eleventh latters of the word INTERPRETATION are LE.R and
T respectively. The words formed are RITE and TIRE.

Ex 8. In the following scrambled letiers are rearranged o form the name of a city, the cily so formed is famous for

its
WILGARD
{A) Locks {B) Sieal Plant iC) Temples {0} Pottery
Sol. (C) They city is GWALIOR and il iz famous for temples.
Ex9. Choose the ona word which can be formed form the letlers of the given word.
RATIONALISATION
{A) NATIONALISTIC  (B) NATIONALIST [C) SITUATION (D) REALISATION

Sol. (B) The word RATIOMALISATION contains all the letiers of the word NATIOMALIST. So, the word
MATIONALIST can be formed.

S——

Ex 10. How many even numbers are there is the above sequence which are mmediately preceded by an odd
mumber and immediately followed by an even number ?
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5147398B5726315863852243496
A1 Bz <13 (D) 4

Sol. {C}) We have fo find the sequence QEE, 0-Odd MNo. A odd number followed by two even numbers. 51 47 3
985726315863852243496.

Ex 11. Mitin was counting down from 32. Sumit was counting upwards, the numbers starting from 1 and he was
calling out only the odd numbers. What commeon number will they call out at the same time if they were
calling out at the same speed 7
(A) 19 {B) 21 (C)22

Sol. (DINitin:323130202827 262524232221 20......
Sumit: 135789 11 13 1517182123 25....
Clearly, both will never call out the same number.

Ex 12. Thirty six vehicles are parked in a parking lot in a single row. After the first car, there is one scooter. After
the second car, there are two scooter. After the third car, there are three scooters and so on. Work out the
number of scooters in the second half of the row.

(&) 10 (B) 12 C)15 o) 17

Sol. (C)LetC and S denole car and scooter respactively.
Then, the sequence of parking is
CECS5SCE85C5558CS555/E58C888588C8885588C
The above sequence has been divided into two equal halves by a line.
Clearly, numbser of scooters in second half of therow =2 + 6 + 7 = 15

Ex 13. Manisha ranked sixteenth from the top and twenty ninth form fhe bottom among those who passed an
examination. Six students did not pariicipate in the competition and five faled in . How many students
wera there in the class 7
() 40 (B) 44 (C) 50 () 55

Sol. (D) Mumber of students who passé = (15 + 1 + 28) = 44.
+ Total number of students mthe class =44 + 6+ 5=55

Ex 14. H all the number from 7 to 59, which are divisible by 3 are arranged in descending order then which number
will be at 10th place from the bottom 7
[A) 38 {B) 39 (C) 30 (D) 27

Sol. (A} The required numbers in descending order are - 57, 54, 51, 48, 45, 42, 30, 36, 33, 30, 27,24, 21, 18,
15, 12, 9. The 10™ number from the bottom is 36.

Ex 15. Anil and Sunil are ranked seventh and eleventh respeciively from the top in a class of 31 students. What will
be ther respective ranks from the bottomn in the class 7
{4} 20th and 20th {B) 24th and 20tk (G} 25th and 215t (D) 26th and 22nd

Sol. (B) Mumber of students behind Anil in rank = (31 -7) = 24
So, Anil s 25th from the boflom.
Mumber of sludents behind Sunil in rank = {31 -11) =20
S0, Sunil is 21t from the boftom.
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PRACTIVE EXERCISE

j Arrange the given words in alphabetical order and tick the one that comes last.
{A) plane |B) plain (C) player (D) place

Directions : {2 to 3) In each of the following questions, a group of letters is given which are
numbered 1, 2, 3, 4, 5 and 6. Below are given four aliernatives coniaining combinations of
these numbers. Select that combination of numbers so that letters aranged accordingly,
form a meaningful word.

2 G A N I ] E
1 2 3 4 5 &
(A)1,2,4,3,6,5 (B)6,3,4,1,5,2 G)5,2,1,4,3,8 D) 2,5,1.4, 3.6
3. c E L 5 M u
| 2 3 4 5 &
(A1 4,6,3.5,2 1 (B)5.6,4,1,3,2 (C)4,6,5,2 3,1 D} 5.2,3.1,6,4
4. How many pair of letter are there in the word, “EXPERIENCED” which have as many letiers betwesn them

in the word as in alphabet ?
(A) Cne {B) Thera (C) Four (D) More tham four

5. How many pair of lefters are there in the word REPURCUSSION which have as many letiers between them
in the word as in the alphabet.

(A} Three (B} Cne [C) Twao (D) More than three
6. Mumber of letters skipped in babween adjacent letiers in the series are multiples of 3. Which of the following
serias observes this rule ?
(A) AELPZ {B) GKOTZ [C) LORLX (D DHLPU
T Salect the series in which the letiers skipped in between adjacent letters decrease in order
{A) AGMAY (B) HNSWA [C) NSXCH (D) SYDHI

8. if every ewen letter beginning from B is replaced by odd number beginning with 3. Which lefter’ number will
be the third to the left of the tenth number Letter counfing from your right?
(AT M Bs Gy a1 (O 23

9. Which letter should be fourth io the right of twelith lefer from the nght if the second half of the alphabet

serias is reversed 7
(A d {B) K [GiL (o) M

10. It it is possible to make a meaningful word with the second, the fourth, the fifth, the seventh and the
elaventh latters of the word DISRIBUTION which of the following wil be the third letier of that word 7 i no
such word can be formed give X as answer.

Mo Byl C)E (D) X
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1. A meaningful nine-letier Englizh word s formed using all the alphabets given in the grid below, starting with
alphabet of a comer block, moving in clockwise direction and ending at the alphabet in the central grid.
What is the fourth alphabet of the word 7

m m o

o y d

[ t i

(Ao {B)d it (D) m

Directions : (12 to 13) In each of the following questions, find which one word can not be made
from the latier's of the given word.

i2.  KALEIDOSCOPE
{#) SCALE {B) PADLOCK (C) PACKET {D) DIEESEL

13.  SUPERIMPOSABLE
{A) SPIRE {B) REPTILE (C) POSSIBLE {D) REPOSURE

14. In the following series of number's find out how many tmes, 1,3 and 7 have appeared together, 7 being in
the middie and 1 and 3 on sither side of T 7
2973173771331 7385671377173906
{A) One {B) Two (C) Thres (D) Four

15. In the following number senes how many 8's are thers which are exactly divisible by the numbers which are
preceded and followed by it 7
82451728484228269 B454832843183
(A (B2 G} 3 (O 4

16. In a Class Vidhya ranks Tth from the top, Divya iz T ranks ahead of Medha and 3 ranks bahind Vidhya

Sushma who is 4th from the bottom, is 32 ranks behind Medha. How many students are there is the class 7
[A) 52 (B) 49 (C) 50 (D) None of thess

17. Three persons A, B and C are Standing in a queus. There are five persons betwesn A and B and eight
persons between B and €. i there be three persons ahead of € and 21 persons behind A, what could be
the minimum number of persons in the gqueue.

{A) &1 {B) 40 (C) 28 (D) 27

18. It the alphabets were written in the reverse order, which letler will be the fith letter o the right of the
fourteenth letier from the leit.
AR (B s (D H
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Directions : (19 to 25) Study the following information to answer the given questions :

{i) In @& class of boys and girls, Amar's rank is 12th and Meeta's rank is 8th.
(i} Amar's rank among the boys is 6th and Meeta's rank among girls is 3rd.
{iii} In the class Meeta's rank is 52th from the other end.

{iv) From the other end, Amar’s rank among the boys is 26th.

19. How many boys are there in the class 7
{A) A {B) 28 (C)29

20. Which of the following is Meeta's rank among the girls from the other end ?

() 23rd {B) 28th (C) 26th (D) Can't be determined
21. How many boys are there before Meeta ?
() 4 {B) 5 [C)3 (D) Can't be determined

N How many boys are there between Amar and last rank (assuming it is a girl) in the class ?

(AY25 (B) 47 (G)22

. How many boys are there between Amar and Meata 7
(&) One (B) Two (C) Three

24. How many girle are there before Amar 7

(A) 5 (B} B G 7 (D) Can't be determined
25, How many girle are there between Mesta and Amar 7
{A) One {B) Two (G} Three (D) Can't be determned

(D) Mone of these

(D) Cam't be determined

(D) Can't be determned

ANSWERS

.ﬂue 1 | 2__ 3 4 5 | ] | T B 9 10 | 41 | 12 | 13 |
iArls. c B E D D | A D c B c D c B |
|Que.| 14 |15 [ 16 |17 |18 | 19 | 20 (21 | 22 | 23 |24 | 25
| Ans c D [+ A A C B & D B c
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You are required to put in the real signs i the given equation and then solve the guesBon.

NOTE :
While atternpling io solve a mathematical expression, proceed according io the rule BODMA - that is,
Brackets, Of, Division, Multiplication, Addition, Subtraction.

Ext. (4B8-12)+4+6+2-3=7
(4B-12)+4+6+2x3=36+4+6=2x3  (Solving Bracket)

=8+3x3 [Solving Division)
=0+0 [Seohving Multiphcation)
=18 [Sohving Addition)

Ex2. i «means =, - means =, - means + and + means -, then
(3-15+18)=x8+E6=7
(A) 8 (B) 4 ci2 oA

Sol. (Cj}Using the proper signs
Expression (3 « 15+ 19) <8 -6 =64 - B-§ =2

Ex 3. I X stand for “addition’; < for ‘subiraction’, + stands for ‘division’, = for ‘multiplication’, - stands for ‘equal to’,
+ for ‘greater than and = stands for ° less than', state which of the following is true 7
A3s2<cd=-16=2+4 Bj2=2+2=10=<4+2
C)3ud=2-8+3<3 Eu3<T+B+4x1

Sol. (B) Using the proper nofations in (B}, we get the statement as
Su2=<10-4 +20r5 < 8 whichis true?
Direction (4 io 5) Are fo be answered with reference to the following explanatory
Suppose in view of a number system, a symbol system was substituted, which h.l.rdiy.l’t.-l

O, ZEis56<X and & cormesponding fo the digits, 0, 1, 2, 3, 4, 5, 6, 7, 8 and 9
respectively. The digit O is used in the same fashion as the digit 0 in the decimal system.

Ex4. Which is equal fo 10° 7
(&) ~OO
Sol. (A)10°= 100 means »00

Ex5. Whatis the sumold+a+ d+E7
(A} A2 {B) ~2Z c)e DyCE
Sol. A3+ B+ EL=3+6+3=12means » Z

bte: The Information Provided here i=s only for reference. It May wvary the Original
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Ex 6. Which one of the four nterchanges in signs and numbers would make the given eguation correct 7
3+5-2=0
{A) +and-, 2and 3 (Bl +and- 2and 5 [C)+and- 3and5 (D) Mone of these

Sol. (A) By making the interchanges given in (A} we get the equalion as
2-3+ 3 =00r0=0which s frue.
By making the interchamges given in{B), we get the equation as
3-2+ 5=00r6=0, which is false.
By making the interchanges given in (C), we get the equations as
5-3+ 2 =4 or 4 = 0 which is not true.

Ex7. Which of the following conclusions is comect according fo the given expressions and symbaols 7
Al B:=> G D:=
Er® F:e
Expression (pEqg and gEr)
{A) pEr (B) pFr (C) eEp (D) rEq
Sol. (AlpEgandpEr = p=gand g=r = psr= pEr

Ex8 KA+D>C+EC+D=28andB+E=C+D, it necessarnly follows that
(A A+B=2d B)B+D=C+E [ClA+D=B+E [D)A+D=B+C

Sol. (D}A+D=C+E
=A+D=(2B-D})+E(- C+D=28)
= A+D=(B+E)+(B-Dj
= A+D=>(C+D}+(B-D)
= A+D>»B+C.
Direction : (8) In answering the questions below, use the following information :
X o Y means divide X by Y
X T ¥ means muliple X by ¥
X # ¥ means subtract ¥ from X
X ¥ means add ¥ to X
Ex 9. One-fifth of one-tenth of two-third of a number X i given by
(A XTRusTaulg Tizus) B) X a0 T2 T3

(C) X TaEToM2T ) (D) can’t be determind

Sol. (A) X!—Ixi:’(;:){T{iujh[lull}]T(Jui}
5 Ip 3

bte: The Information Provided here i=s only for reference. It May wvary the Original
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Directions : (10 to 11) following symbols have been used :©

x stands for equal fo

< stands for not equal 1o
stands for greater than
stands for not greater than
stands for less than
stands for not less than

n W +

Ex10. Kp=g +r,then i is possible that

{Alp=q-r (Blp+qg-r Cilp-g-r Dip=<g=r
Sol. (D) With the notations given, wa have

p=Q+rmeansp 2p =r

From opion (A}, p » Q- r means p = g = r. this is not true_

From option (B}, p + g-rmeans p = g =r. this is not rue.

From option (C), p- q - rmeans p = g > r, this is not true_

From opion (D), p<g<rmeansp = q = r, this is true,

Ex 11. W p=g = r, then it is possible that

Mp+r+q {B)p=r-qg [Clp=q+r Dp=q-r
Sol. (A) With the notations given, we have :

p=g=rmMeansp<q="r

From opfion (A}, p +r+gmeans p < r £ g, this is true.

From oplion (B}, p=r-q means p 2 r> q, this is not frue.

From option (C), p = g + rmeans p = g <r, this is not true.

From option (D), p=q -rmeans p = q = r, this is not true.

Directions : {12 to 15) in the following questions, the symbols, €, &, =, " and * are used with the

following meanings

‘Ao B'means ‘A is greater than B";

‘A© B means A is greater than or equal to B';

‘A=B'means ‘Aisequalto B';

‘A" B" means ‘A is smaller than B";

‘A" B" means ‘A iz either smaller than or equal to B';

Mow in each of the following questions, assuming the given statements to be true, find which of the
two conclusions | and Il given below them is/are definitely true.

Give answer (A) if only conciusion | is true : (B) if only conclusion li is true ; {C) if either | or li is true
; (D) if neidther 1 nor Il is true.

Ex 12. Siatements: SOT MK T=K

Conclusions: 1. T&M
LT=M

Sol. (C)Gwenstatements :S=T M =K. T=K.
Relation between T and M :
T==KKz2M=Tz2M=T>MorT=M
= TOMorT=M
So, either | or li is true.

Ex 13. Statements :S*M MOL LEP

bte: The Information Provided here i=s only for reference. It May wvary the Original
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Ex 14.

Ex 15.
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Conclugion: 1L S=P
ns=L

{D} Given siatements : S<M M=L L 2P

I. Relation between S and P :

SzM. M=L L =P = nodsfinite conclusion.
S0, |is mot frue.

II. Relation between S and L :

5« M. M= L = no definite conclusion.

S0, Il is aleo not trua.

Statements :U=V.V*N.R*U
Conclusions : LR* N
nLuUgN

{A) Given statements : U=V . V<N R = U
L. Relation betwesn R and M :
REUbU=V,V<N = R<Nie.B*N
Sa, | is true.

Il. Relations between U and N :
U=V.VesN= U<Nie.U*N
So,UDNie U z Nisnot true.
Thus, Il is false.

Statements: EQU G E,.COB
Conclusions : LU=C
LEZB

(B) Given statements :E =2 U C<E C=8B
L. Relation between U and C :

U = E, E = T = no definite conchusion.
5o, | is not true.

II. Relation between E and B :
E>»C,C>B= E>Bie. EQB
So._ llis frue.

The Information Provided here is only for reference.

It May wvary the Original
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PRACTIVE EXERCISE

: It being given that - = denofes +, < denotes -, + denotes =, - denotes =, = denotes ‘less than' and «denoles
‘greater than', find which of the following is a correct statement.
(A1 +2<d=0+3<1 Bj3=2>4=18+3<2
C}3=2<cd xB+d <2 [D':|3+2-c-1-vg+3<3

Direction : {2} In the following question, different alphabets stand for various symbol as indicated below :

Addition : 0 Substation - M Multiphication : A
Divisicn - Q Equal to - X Greater than - Y
Less than < Z

Ot of the four alternatives given in the quesBon, only one I8 correct/

2 ATO1Q1MIY3I0T BI2Q1020A1Z6 A4
C)3020100Q2X10A2 M525A505Y5A2
3. It P means '+ ;"R means 'z’ ; ‘5" means *-'; T means '+’ then what is the value of
SA9P7S0T3aPE=?
(A)54 (B} 128 [C) 59 (D) 55
4. It + means +. - means +, » means - and + means «, then
(B2x8)-8x2 _,

d+18=8+9=1

(Ao {Bi1 [Cy12 D) Mone of these
5. It L demoied +, M denotes x. P denotes + and O denoles -, then which of following statements i true ?
3 173
(A)32PBLIE O 4d=-— (BIEM1BEQ28L13PT= T
18
Gy M I-.-'IZIMLIT"E?.‘IBLS:'—h [yeFPOLEQEMIE=-T1

L

Directions : (6 to 8) Answer the questions on the basis of the infermation given below. If '§"
represents '+’ ‘%' represents -, ‘# represenis ‘=" @ represenis V" then answer the
following questions bases on the above given representation.

6. Whatis the value of 4 #3510 @558 #2 %18 7
(A) 10 ()12 [Ci68 o 11.2

1. Which of the following has the value equivalent of 5362258 @ 4 7

(M 4#7K1252#1 (B)B#2%3856@3 (CIB@2%356#3 (D)4STH1252481
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8. Which of the given values is greater than 7 53*2$ 12@ 47
(M 4#3%E@3kd [B)5e2kB@45343%7
{Cle#3k18@ 25142 Mo@3ISE#2k241

9. HFOA=7 4 =27 @:eﬂ-:o.—-@ ='-“

{A) 690 {B) 680 (C) 780 (D) 780
10. Caormect the following equations by miterchanging two sings :

16-21+T=B+3=3

(A} - and + {B) +and « [C) = and + (D) = and =
1. Find the correct inference according to given premisas and symbaols :

A : Mot greater than B : Greater thanC : Mot equal to

D : Equal to E: Mot less thanF : Lesas than

(A) pBm {E) pDm (D) pEm (D) pF.
i2. HA+B=>C+D B+E=2CandC +D > B + E, it necessarily follows that :

(AJA+B>2C (Bl A+B=2D (Gl A +B»2E (D) A3 C

Direction : (13) In answering the questions below, use the following information

X U Y means divide X by ¥
X T ¥ means multiply X by ¥

X & ¥ means subtract Y from X
X ¥Ymeansadd Y to X

13. A receives X number of balls. He gives 10% of his ball to B, 15% of his ball to © and 12% of his balls to D.
How many balls does he hawe with him now ?

P RAXT 010 X T 1Su100) #XT (12 w 100}
WXaXT0T100) n XQASTI100) A X T (1 T 100)
[CYX#E T (10 100) X T (15 w100} 1 X T (12 o 1000

{0} Mone af these
Directions : (14 to 15) Some symbols are given below. These symbols denotle some relationship between
number
A greater than
H = equal to
| £ nof less than
W = lees than
+ = mot greater than
o not equal o
14, aw b # cdoesnot mean
{AjlaAbe¢c {(Bja+b @ c Clavbac [Dijb@cOa

bte: The Information Provided here i=s only for reference. It May wvary the Original
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15

c +b «ameans

(Ala=b@éc

BlcAabAa [Clcwbxa

Directions : (16 to 17) the following symbols have been used L

16.

1.

X:
: Stands for not equal to

: Stands for greater than

: Stands for not greater than
: Stands for less than

: Stands for not less than

=

il

n v +

Stands for equal to

I p » q » r, then it is not possible that :

(Alp-g=r (Blp=q+r Clp+q+r
W p- q+r, then it is possible that :
Mp=g=r (Bijp=qg-r Cip+gur

DibacAa

Blp=g=r

Dyp=qur

Directions : (18 to 22) In the following questions the symbols §, @ — - and = are used with the fallowing
meaning.

18.

14.

1.

A S B means A is greater than B

A @ B means A is either greater than or equal to B
A = B means is Ais equal to B

A = B means A iz smaller than B

A = B means A is either smaller than or equalto B
Mow is each of the following questions assuming the given statements 1o be true, find which of the
two conclusions | and Il given below them is / are definitely true 7 Give answer (A) if only
conclusions | is true, (B) if only conclusion Il is true (C) if neither | nor Il is true (D) if both | and Il are
true.

Statemenis: P@OM=NN=Q
Conclusions : L PEM

LMN=zP

Statements: Dc X F@ Y DSF
Conclusions : L X@ ¥

Statements:

LY =D

McPSSTM@T

Conclusions: 1. T = P

L5oT

Statements: U V. XSW U W
Conclusions : L W2V

LuUcXx

bte: The Information Provided here i=s only for reference. It May wvary the Original
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22, Statements: GEH J=K Hcz K
Conclusions : L. GEK
ILJd c K

Directions : (23 to 25) In the following questions find out the digits corresponding fo the letiers
representing those digits in the muitiplication give below.

O9bc
35d
Jadb
4a35
2961
342390

n. b stands for :
{A) 6 By 7 (G) 8 by 8

24, c stands for -
&7 (B) 6 iC) 5 D) 4

25. d stands for :
(A) 2 {B) 3 IC) 4 [D) 5

Que.[ 1] 2 347578 T8 g [IE[13
b1 i.B "BE BE EE R -EE EE 3 .Bl AR TIBB
Gue | 14 |16 (16 (17 |16 |19 |20 (21 (22 |35 | A |5
Anﬁs.;.ﬁ;CAAB:G-ACAcl.AC

g Information Providad is anl for reference It M 1T
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Directions : {1 to 5) Read the following information carefully and answer the questions given below it.

L Five professors (Dr. Joshi, Dr. Davar, Dr. Natrajan, Dr. Choudhary and Dr. Zia) teach five
different subjects (zoology, physics, botany, geology and history) in four universities (Delhi,
Guijarat, Mumbai, and Osmania). Do not assume and specific order.

L Dr. Choudhary teaches zoology in Mumbai University.

il Dr. Matranjan is neither in Osmania University nor in Delhi University and he feaches neither

geology nor history.

V. Dr. Zia teaches physics but neither in Mumbai University nor in Osmania University.

Y. Dr. Joshi teaches history in Delhi University.

Vi Two professors are from Gujarat University.

Vil. One professor teaches only one subject and in one University only.
Ex 1. Who teaches geology 7

{A) Dr Matrajan {B) Dr. Fia {C) Dr. Davar (D) Dir. Joshi
Ex 2. Which university is Dr. Zia from ?

{A) Gujarat (B) Mumbai {C) Delhi (D) Csmania
Ex 3. Who teaches botany ?

(&) Dr. Tia (B} Dr. Davar {C) Dr. Joshi (D) Dr. Matrajan
Ex4. Who iz from Osmania University 7

(4] Dr. Matrajan {B) Dr. Davar {C) Dy Joshi (D) Dr. Zia
Ex 5. Which of the following combinations is correct ?

{A) Delhi Unwersity - Dr. Zia {B) Dr. Choudhary - geology

{C}) Dr. Davar - Mumbai University () Dwv. Natrajan - Gujarat University.
Sol.: [1to5)

From the given information in the guestion :

From H, we get Dr. Choudhary teaches zoology in Mumbai University.

From I, We get Dr. Natrajan is neither in Osmania nor in Delhi University. Therefore, he will be either at
Mumbai or Gujarat Uinmsersity. Similarly, as he teaches neither geclogy nor history, therefore, he must b
teaching physics or botany. {1}

From IV,

Dr. Zia — Physics but as he is nol leaching in either Mumbai or Osmania Uiniversity, he must be teaching
aither in Delhi or Gujarat Univarsity S |-

Form W, we get Dr. Joshi teaches history in Delhi University

Form (1) and {2}, we conclude that Dr. Natarajan teaches botany.

And form (1), {2) and V1, we get both Matarajan and Zia teach in Gujarat University.

bte: The Information Provided here i=s only for reference. It May wvary the Original



wwW.sarkariresults.io

Dr. Joshi Delhi History
Dr. Davar Osmanim | Geology
" Dr. Natrajan Gujarat Baotany
Drr. Choudhary Mumbai | ZLoology
Dr. Zia Gujarat | Physica
Who among them is the laiest 7
{A) Ramesh {B) Karan {C) Vinay (D) Cannot be determined

Sol. (D} In this questions ranking of Karan is not defined. Consequently, either Ram or Karan Occupies the fop
position with regard to height. Hence, option (d) is the comect choice.

Directions (7 to 11) Read the following information carefully and answer the questions given below it :
There are five men AB,C.D and E and six women P,GR ST and U.A B and R are advocates;
C,D.P.Q and S are doctors and the rest are teachers. Some teams are to be selected from amongst
these eleven persons subject to the following conditions :
A, P and U have to be together.
B cannot go with D or R.
E and G have to be together
C and T have to be together.
D and P cannot go together.
C cannot go with Q.

Ex 7. W the team i to consist of two male advocates, two lady doctors and one teacher, the members of the team
are
AIABPOQU (BJABPUS [ICYAPRSU [D)BEQRS

Sol. (B) The made advocates are A and B, lady doctors are P, Q and S ; teachers are E, T and U. Now A and B
will be selected’
A, P and U have io be iogether. Now, we have to select one lady doctor more. It can be Q or 5. But O and
E have to be togelher. Since E is not selected, so S will be selected. Thus, the team is A B PU 5.

bte: The Information Provided here i=s only for reference. It May wvary the Original
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Ex 8. W the team & to consist of one advocate, two doctors, three teaches and C may not go with T, the members
of the team are :
AAEPOQSU (BYAEPQTU [C)YBEQGSTU {EQRSTU

Sol. (B) The advocates are A, B are R; dociors are C, D P, O, 5 ; teachers are E, T and U, The team consists of
3 teachers ie. E, T, U. Now A, P and U have o be logether. E and O have to be together. Thus, the team is
AEPQTLU

Ex9. W the team is to consist of one male advocate, one male doctor, one lady doctor and two teachers, the
members of the team are :
AACPTU BJADEPT [CYADEPU [)BCEQU

Sol. (A) The male advocates are A and B ; male doctors are C and D ; lady dociors are P, O and 5; teachers are
E, T and U. K a selected, P and U wil be selected. D and P cannot go fogether. So, a male doctor C will be
selecied. C and T have to be together. Thus, the team is AC P T U. i B is selected, D will not be salecied.
S0, male doctor C will be chooses. C and T have to be together. Mow, the second fteacher io be selected &
E or U. But, U cannot go without A_ So, E will be selected. E and O have to be togethar. Thus, the team can
alsobeBCEQT.

Ex 10. | the ieam is 1o consist of one advocale, three doctors and one male teacher, the members of the team are:
[(AJADPSU [BJCDRST [C)DEQRS [D)DEQRT

Sol. (C) The advocates are A, B and R ; the doctors are C, D P, O and 5; male teachers i E. Clearly, E will be
selected. E and O hawe to be together. C and O cannol be iogether. So, C will not be selected. P also
cannat be selected because U & not selected. So, two other doctors D and 5 will be selected. P is not
selected, So A will not be selected. D is selecied, s0 B cannot be selected. Thus, theteamisDEQ R 5.

Ex 11. ¥ the team is to consist of two advocates, two doctors, two teachers and not more than three ladies, the
mambers of the team are :
{A) ABCPTU (BJACPRTU (CIAEPQRT [D)DCEQRT

Sol. (a)ACPRTUandAEPQR T are wong because each of these combinations consist of four ladies. B C
EQRAT is comect because B and R cannot to gather.

Direction: {12 to 15) Read the following paragraph carefully
Four workmen A, B, C and D and three men E, F and G play bridge, a game four players.
{i) The group censists of three married couples and a widow.
{iiy Spouses are never pariners in game.
(i) No mare than one married couple ever plays in the same game.
{iv}) One day they played four games as follows.
Aand E versus B and F.
Aand G versus D and F.
B and C versus F and G.
C and E versus D and G.

Ex 12. Whom is E married to 7
) A BB c)c )

bte: The Information Provided here i=s only for reference. It May wvary the Original
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Whose if F married io ?
(A (B)B icjc DD

Whose is G maries io ?
(A A B) B G C (O d

Which of the following s 8 widow 7
(A A BB cyc (D) D

(12to 15 ):

From (v}, is married ether to A or to C. f F is married fo A, Then G is married fo B or to G. f G is marnes o
B, then E is married to D ; # G is married to C, then E is married to B ar to D, i F is mamied o C, then G is
marmed te B ; then E i8 mamed to D. Hence, the mamed couples are : FA, GB, ED or FA, GG, EB of FA,
GG, ED or FG, GB, ED. Of these, only FA, GB, ED does not contradict any of the statemenis.

Sol 12. (0} E is married fa D.

Sol 13. (A) F a s mamied fo A

Sol 14. (B} G iz marmiad io B.

8ol 15. (C) C i= widow.

Ex 16.

A vagabond runs out of cigarettes. He searches for the stubs, having leamt that 7 stubs can make a new
cigaretie, good enough to be smoked, he bathers 49 stubs, f has smokes 1 cigarette every three - quarers
of an hour, how long will his supply last 7

(A 5.25 hr {B) B hr {C) 4.5 hr (D) 3 hr
{B) He has got = #: 7 cigarettes.

]
+ The duration of time he will take to emoke theee 7 cigareties = '.I'H'Ihsr =525 hr {i.e. hr and 1 min). Now
note that after he has smoked these 7 cigareties, he will collect 7 more stubs (one from each), form which
he will be able o make ancther cigarette. This will take him another %h'r {45 min} o smoke. Therefore, lotal

time taken =6 hr.

The Information Provided here is only for reference. It May wvary the Original
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Direction : {17 te 18) Read the fallowing information and answer the questions that follow.
There are 70 clerks working with M's. Jha Lal Khanna & Co. chartered accountant, of which 30
are femaie.
L 30 clerks are married.
| A 24 clerks are above 25 years of age
NI 19 Married clerks are above 25 years of age ; among them 7 are males.
V. 12 males are above 25 years of age
V. 15 males are married.

Ex 17. How many unmarried girls are there ?
A 12 () 15 (C)18 [oj) 10

Ex 18. How many of these unmarned girls are above 25 ?
{Ay12 (B) 15 C)4 mo

Sol. (17 to 18) : From the giwen daia, we can make the following tahle with the help of which rest of the
guestions can be solved very easily.

Male (40) Female (30] |
Abowve25
Mamied 7 i 12
Unmarried | I e
Below 25
“Married | 8 3
Unmarried | 20 15
Total ! 40 30

Sol 17. There are 15 unmarmied girls.

Sol 18. In these 15 unmarried girls no one is abowe 25,

PRACTIVE EXERCISE

Direction : (1 to 5) Study the following information carefully and answer then questions given below it ©
There are five friends A, B, C, D and E. Two of them are businessmen while the other three belong to
deferent occupations viz. medical, engineer and legal. One businessman and the lawyer stay in the
same locality S, while the other three stay in three different localities P, @ and R. Two of these five
persong are Hindus while the remaining three come from three different community’s viz. Muslim
Christian and Shikh. The lawyer is the oldest in age while one of the businessmen who runs a
factory is the youngest. The other businessman is a cloth merchant and age wise lies between the
doctor and the lawyer. D is a cloth merchant and stays in locality 5 while E is a Muslim and stays in
locality R. The doctor is a Christian and stays in locality P, B is a Shikh while A is a Hindu and runs

a factory.
: Who stays in locality © 7
(A) A {B)B c)c (D) E
2. What is E's occupalion ?
{A) Business {B) Engmneer [C) Lawyer (D) Doctor
i@ Information Provided here i=s only for reference. It May vary the Original
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3. Age wise who amaong the following lies between A and C 7

{A) Lawyer {B) Docior (G} Cloth merchant {D) Engimeer
4. What is B's occupafion ?
{A) Business {B) Engineer [C) Lawyer (D) Doclor

5. What is C's occupation 7
{A) Doctor {B) Lawyer IC) Engineer (D) Business

Directions : (6 1o 10) Read the information given below and answer the questions.
The age and height of six children in a class are as follows :-
{i} Ais taller and older than B but shorter and younger than C.
{iiy D is taller than E who is not as tall as B.
{iiif} The oldest is the shortest.
{iv) The youngest would be fourth if the children stood in a line according to their height and one
started counting from the tallest.
{v) D is younger than F but older than E who is older than C.

6. Who among them is the tallest 7

(A) B {B)E HEH (D) Data inadequate
1. Whose iz older than B but younger than G ?

s F BD Gy A (D) Data inadequate
8. Which of the following statements is definitely frue 7

{A) D is the most old person (B} B has the max height

{C} A is oider than D {D¥) F i= the shortest

9. Whish of the following is the comect order of height in descending order 7
(M)A C. D, B EF {(BjF,D,E.C,A B (C)D,C,A. B EF (D) C.D,A. B, E,F

10. Whose Rank in height cannot be posiioned definitely ?
(A B By D GG M E

Directions (11 to 15) Study the information given below and answer the questions that follow.
(i) Sixplays P,Q, R, S, T and U are to be organised from Monday to Saturday i.e. 10 to 15 one play
each day.
{ii} There are two plays between R and S and one play between P and R.
{iiiy There is one play between U and T and T is to be organised before U.
{iv) @ is to be organised before P, not necessarily immediately.
{v] The oranisation does not start with Q.

11. The organisation would siart from which play ?
Ay P B) S Gy (D) Mona
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12 One which data is play T be organised 7
{A) 10th {B) 11th (C)12th (D} Nonea

13. The organisation would end with which play 7
mP B {C)S (D) Mone

14. Whish day is play O organized 7
{A) Tuesday {B) Wednesday [C) Thureday (D) None

15. Which of the following is the comect sequence of organising plays ?
{AIPTRUQS {B) OSTURP (C) SUTROP (D) None

Directions : (16 to 20) Study the following information carefully and answer the questions that follow :
A team of five is to be selected from amongst five boys A, B, C, D and E and four girls P, @, R and
S. Some criteria for selections are :
Aand S have to be together
P cannot be put with R.
D and G cannot go together.
C and E have to be together.
R cannot be put with B.
Unless otherwise stated, these criteria are applicable to all the questions below :

16. If two of the members have to be boys, the team will consist of -

(MABSPOQ (BJADSOR [CIBDSRQ [DICESPQ
17. i R one of the mambsers, the other members of the team are :
(M PSAD (B)QSAD [CIOSCE [D)SACE

18. If two of the members are girls and D & one of the members, the members of the team other D are :
A POBC (BPQCE [C)PSAB [D)PSCE

19. if A and C are members, the other members of the team cannot be -

{MBES (BYDES [CYESP D) PQE
20. In including P at least three members are girls, the members of the team other than P are :
(MOSAB BoseD [CYGSCE RS AD
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Directions : (21 to 25) Read the following information carefully and answer the questions given below.

L There iz a family of six persons- L, M, N, O, P and Q. They are professor, businessman,
chartered account, bank manager, engineer and medical representative, not necessarily in
that arder.

There are two married couples in the family.

0, the bank manager iz married to the lay professor.

Q, the medical representative, is the son of M and brother of P.
N, the chartered accountant, is the daughter - in law of L.

The businessman is married to the chartered accountant.

P is an unmarried engineer.

L is the grandmother of Q.

SEs<=mnm

21, How is P related to Q.
{A) Brother {B) Seter (G} Gouwsin D)) Either brother or sister

22. Which of the following is the profession of M ?
{A) Professor [B} Chartered accountant
{C} Businessman (¥} Medical representative

23. Whish of the following is the profession of L 7
{A) Professor {B) Charted accountant [C) Businessman {D) Engimeer

24, Whish of the Sollowing is one of the couples ?
Ay 20 (B) OM (C) PL {D) None of these

25, How is O related to O ?
{A) Father {B) Grandfather [C) Uncle (D) Brother

26. You hawve 12 similar kooking coins. 11 of them weigh the same. One of them has a different weight, but you
don't know whether it is heavier or lighter. You also have a scale. You can put coins on both sides of the
acale and it'll fell you which side is heavier or will siay in the middle if both sides weight the same. What &
the minimum number of weighing required to find out the odd coin_

{413 {B) 4 (C)5 (D) &
ANSWERS
ﬂue._ 1 2| 3[4 |58 | T B 9 (10| 11 |42 | 13
Ans. | A |[BE|D|[C|A|D|C|D D(B|B|C|A
Que. | 14 [T8 (16 |17 |18 [ 19 | 20 |3 | 2 |23 |24 |35 | 26
Ans.  A|D|AD|CDJA[D|[C[A|D BE|E

=t The Information Provided here is only for reference. It May wvary the Original



wwW.sarkariresults.io

Directions : {1 to 5) Read the following information carefully and answer the questions given below it.
Eight persons, E, F, G, H, |, J, K and L are seated around a square fable - two on each side.
There are three lady members and they are not seated nest to each other.

J is between L and F.

G is between | and F.

H, a lady member, is second to the left of J.

L, a male number, is seated opposite of E, a lady member.

There is lady member between F and L.

sSs<=E=-"

Ex 1. Who among the following is seated between Eand H 7
A F =T icyd (D) Mane of these

Ex2. How many persons are seated batween K and F ?
(A) Cne {B) Two (C) Three (D) Cannot fo detemined

Ex 3. Who among the following are the three lady members 7
A E, G and J {BIE,Hand G [C) G, Hand J [D) Cannot be determined

Ex4. Who among the following is to the immediate left of F 2
A G B (G (D) Cannot be determined

Ex 5. Whish of the following is true about J 7
{A) J B a male member (B} J is a female membar
{C) Sex of J cannot be determined (D) Posttion of J cannot be determined

Sol. (1 to B) : On the basis of the given information, we arrive al the following sting plan the does not violale
any of the given conditions.
And on the basis of the abowve figure rest of the guestion are solved as follows :

1. (D) K is seated between E and H.

2. {C}) Three persons H, L and J are seated between K and F. !I |

3. {B) The three lady members are E, H and G. ol : _I_
4. (G} J is to the immediate left of F. G - e
5. {#) Cleary, J is a male member, ! !
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Direction : (& to 10 ) Read the following information carefully and answer the questions given below it. Ina
car exhibition, seven cars of seven different brands, viz Cadillac, Ambassador, Fiat, Maruti,
Mercedes, Bediord and Fargo were displayed in a row, facing east direction such that :

L Cadillac was to the immediate right of Fargo.

| A Fargo was fourth to the right of Fiat.

NI Maruti was between the Ambassador and Bedford.

V. Fiat, which was third to the left of Ambassador, was at one of the extreme ends.

Ex 6. Whish of the following was the correct position of the Mercedes 7
{A) To the Immediate right of Fargo (B} To the Immediate left of Badiod
{C) Betweean Bediord and Fargo {O¥) Fourth to the right of Maruti

Ex7. Which of the lollowing iz definitely insa 7
{A) Fargo is between Ambassador and the Fiat (B} Cadillac is to the immediate left of Mercedes
{C) Fargo & to the mmediate right of Cadillac  [[¥) Manuti is fourth to the right of Mercedes

Ex B. Which cars are neighbors of Cadilac 7
{A) Ambassador and maruti (B} Marufi and Fiat
|C) Fiat and Mearcedes (D) Mercedes and Fargo

Ex 9. Which of the iollowing is definitely iree 7
(A} Maruti is to the immediate left of Ambassador
(B} Bediord is io the immediate lefi of Fiat.
{C) Bedford is af one of the ends
{O) Fiat & second o the right of Maruf,

Ex 10. Which of the following groups of cars is 1o the right of the Ambassador ?
{A) Cadillac, Fargo and Maruti (B} Maruti, Bedford and Fiat
{C} Mercedes, Cadillac and Fargo (D) Bedford, Cadillac and Fargo

Sol. (6 to10) : According to the gven question,

Fargo |

From | '
Cadillac|

i)

Flat

Fomll ——— W) ol (10

Fargao
Cadillac

From NI, we get
Fiat
Badiord
Marufi
Ambassador
Fargo
Cadillac
Mercedes [logically i has io be here only]
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From W
Fiat

Ambassador
Fargo

Hence, the seguence of cars is as follows -
Fiat, Bediord, Marut, Ambassador, Fargo, Cadillac, Mercedes)/

{D} Cleary, Maruti is in the third place and Mercedes in the seventh, iLe. Mercedes is fourt to the right of
Maruti.

{B) Clearly, Cadillac & in the sixth place, to the mmediate left of Mercedes, which is in the seventh place
({from the top).

(D} On the sides of the Cadillac are the Fargo and the Mercedes.

{A) Cleary, Maruti s in third place (from top), and is 1o the immediate left of the Ambassador, which is in the
fourth place.

{C} To the right of Ambassador are Fargo, Cadillac and Mercedes.

Directions : (11 to 12) Answer the questions based on the following infermation.

6menR, 5 T, U, Vand W sef around circular table playing cards. K was noticed that no two men the
initial letters of whose names are adjacent in the alphabetical order, sat next to each other, U was
opposite of R. V was not to the immediate right of R.

Ex 11. Who sat to the mmediale left of & 7

LR \T G v ow
Ex 12. Who sat to the mmediate rightof R 7

(A5 BT cyv oyw
Sol. (11 to 12):

1.

12

Step- 1. Circular table - & men is & positions.
2, People with names in alphabetical order do not sit next o each other.
3. U is opposie of AL

4. Also V did not sit on the immediate right of R.

{C} Clearly, Vis to immediate left of A.

{B) Cleary, T sat to immediate right of R.

The Information Provided here is only for reference. It May wvary the Original
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Ex 13. In the Olympic games, flags of & naions were hoisted in the following way. The flag of America was io the
left of Indian Tricolour and to the right of the flag of France. The flag of Australia was on the might of the
Indian flag but to the left of the flag of Japan, which was o the left of the flag of China. Find the two flags
which are in the centra.
{A) America and India (B} Japan and Ausfralia
{C) America and Australia (D) India and Australia

Sol. (D} Clearly, the cormect sequence is :
France, America, India. Australia, Japan, China.
The two flags in the centre are of india and Australia_

PRACTIVE EXERCISE

Directions (1 o 5) : Study the following information carefully and answer the questions given below it:
{ij Eleven students A B, C, D, E,F, G, H, |, J and K are sitting in a row of the class facing the
teacher.
(i) D, Who is to the imme-diate left of F, is second fo the right of C.
(iify A, is second to the right of E, who is at one of the ends.
(v} J is the immediate neighbor of A and B and third to the left of G.
{¥) H is to the immediate left of D and third to the right of L

1: Whi is sitting in the middle of the row 7
[EAL S Byl [C)B (D) G

2 Which of the following groups of friends is sitting to the rightof G 7

[A) IBJA {B) ICHDF (C) CHDF {O) CHDE
3. In the above sitting arrangement, which of the following statements is superfluous?

(A {BYii (G iii (D) Mone is superfluous
4. Which of the lollowing statements is true in the context of the above sitling arrangements ?

{A) There are three stedents sitting between D and G.
(B) G and C are neighbors siting to immediate rnight of H.
{C} B is sitting between J and |

(D} K &= sitting between A and J.
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5. KEand D, C and B, Aand H & K and F interchange their pesitions, which of the following pairs of students i
sitting at the end 7
(A Dand E (B)Eand F (C) D and K (D) K and F

Directions : (6 to 10) Study the given information carefully and answer the gquestions that follow :
Seven friends Kamla, Manish, Rohil, Amii, Gaurav, Pritam and Priya are sitting in a circle. Kamia,
Manish, Rohit, Amit, Gaurav, Pritam and Priya are sitting in a circle. Kamla, Manish, Rohit, Amit,
Pritam and Priya are sitting at equal distances from each other.
Rohit is sitting iwe places right of Pritam, who is sitting one place right of Amit. Kamla forms an
angle of 90 degrees from Gauray and an angle of 120 degrees from Manish. Manish in just opposite
to Priya and is sitfing on the left of Gaurav.

6. Who is the only person sitting between Rohit and Manish 7
{A) pritam (B} Amit (C) Gaurav (D) Kamla
T. Gaurav is not sitting at equal distances from

{A) Rohit and Pritam (B} Amitand Kamla (G} Manish and Pritam [D) All of the above

8. Gauray is sitting ... of Priya.

(4] to the left {B} to the right (G two places right (D) Mone of these
9. The angle between Gaurav and Manish in the clockwise direction is

{A) 1507 {B) 1807 [y 210° (D) Mone of these

10. Which of the following statements is not commect =
{A) Pritam is befween Manish and Kamla
(B} Manigh is two places away from Priva
{C) Gaurav is sitting opposite o Pritam
{D} All of the above

Directions : {11 to 14) A, B, C and D are to be seated in a row. But C and D' cannot be together.
Also B cannot be at the third place.

11. Which of the following must be false 7
{A) A is at the first place (B} A i= af the second place
{C} Ais ai third place (D) A is at the fourth place

12 If a mot at the third place, then G has which of the following option 7
{A) The first place only (B} The third place only
{C} The first and third place only (¥} Any of the places

13. It A and B are together, then which of the following must be necessarily true 7

(A} C is not at the first place (B) A i= at the third placed
{C) D is at the first place
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